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.Ansrrr*r ar:y fer': q**sfi*ns.

Eacft gu*sf:** **rn*s I fitark.

1" Why tw* ind*p*ndent scurces of ligl'rt cannot be coherent?

2. Explaln the the*ry of ptane tr*nsmissi*n grating.

3. Angular separaticn nf any two spectral tin*s irr grating spectrum is dsuille i* the ses*nd

order spectrum i* **mparis*n to the first order spectrum, Wiry?

4" Explain principal secti*n *f a crystal.

5. What is dextro rotatory substance?

6. Write any fuo pump s*urces in laser.

7 - What is meant by a*ceptalrae a*Sle? 
:

S. Differ*ntiate between palar and non-polar malecules.

g. \ffhat you mean hy ele*tric displace*"rent ve*tor D?

10. Expl*in the phen*rn*i'wn ferr*electric effect.

11. Write dswn the axial lengths of unit cetl and int*raxial *ngl*s in Cubie crystaE system.

12. Give the crystai pararneters af rnortoclinic *rystal syster:r"

Fant B

Itnswer ar:3r six qresfin*s.

Eacfu qresfian r*r'l"les $ $rarks.
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13. Two coherent sources whose intensities are in the ratio 25:16 produce interlerence

fringes. Calculale the ratio of maxima to minimum intensity in the fringe system.

14. Light of wavelength 5500 A fiom a narrow slit is incident on a double slit. The overall

separation of 5 fringes on a scraen 200 crn away is 1 cm. Calculate the slit separation and

fringe width.

15. Twa straight and narrow parallel slits 1 rnillin:eter apart are illurnin*t*d by a

monochromatic light. Fringes for*ed on the screen held at distance of 100 crn are 0.5 rnrn

apart. What is the wavelength oi the light used?

'16 ln Ncwt*n's rirrgs experin:*ni find the radius of curvature of the lens surface in ccntact

with the glass plat* rvher: a light af wavelength 5890 Armstrong is illuminated. The

diameter of the third ring is 3.2 mmr. The lighl is falling at sr:ch angle that it passes through

the air film at an angle of zero degre* to th* normal.

17. Explain a) polarisxtion by double refraction b )polarisatior"l hy scattering.

1S. What is laser? What are the main components in a laser sourrc*? Distinguish between

meta-stable stat* and *xcited stat*.

1$i" Discuss the differe*t poiarisation rnechanisms of dielectrics.

20. Write a short note on ia) crystalstructur* (b) crystal lattice {c} Basis id} translati*nal

ve*t*rs.

21. ln a crystal, a latrtice pli:ne cuts intercepts of 2a. 3b and 6c *lonE the axes, where a, b and

c are primitive vectors *f the unit cell. Determin* the iVlill*r indices mf the giver: plan*.

l6x5=3S)

Part C

.A*sl'uer any fwo guesflons.

Saci q*esficn carries !0 marks.

?2. Explain ihe interference phenor"nenon in thin fifrns. What are the differences between

int*rference a*d diffractio*?

23. $tat* and explain malu's law.

24. Witl"r the help of energy level diaErarns expiain thr*e level las*r systems and four level

las*r systerns. fixplain any five applications of laser.

?5. iliscuss the close *pack*d and loose-packed structures in crystals with menti*n on hcp,

fcc, bcc and sirnpi* rubic structures"
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